
PHYSICS 

SET-II 

51)  The velocity of a fluid is N , if the fluid is incompressible, then  

   N 
  1) 0.  N   2) 0.  N  

  3) 1.  N   2)  N.  

     

52)  Equation for the final velocity of a rocket is  

  
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53)  A proton is rotating along a circular path of radius 0.01m under a 

centrifugal force of .104 12 N  if Re mass of the proton is kg12106.1  then 

Re angular velocity is rotation is  

   N12104   m 
  
  

  1) sec/105 8 rad    2) sec/108 rad  

  3) sec/105.2 7 rad    4) sec/105 14rad  
 

54)  Total angular momentum of a body is (I=moment of inertia: w=angular 

velocity)  

  
   I w

  1) IW    2) 2IW   3) WI 2   4) 
W

I 

55)  When Re speed of electrons increases the volume of specific charge 
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   








m

e 
  1) Increases     2) decrease   

        

  3) Remains unchanged   4) Increases first sand then decreases  

   


56)  Einstein’s mass-energy relation  2mcE   shows that  

Stamp



   )( 2mcE  
 

  1) mass disappear to reappear as energy  

  
  2) energy disappear to reaper as mass  

  
   

  3) mass energy are two different forms of Re same entity  

  
   

  4) All Re above statements are correct
  
  

 

57)  A rod of length 2m moves with a velocity 0f sm /'108 relative to an 

observer at rest on Re earth. Then Re apparent length of the rod appearing 

to Re- apparent length of the rod appearing to Re observe is  

  m sm /10 
  


  1) g/32   2) g/8   3) g/16   4) g/4  


58)  A loaded spring oscillates with an amplitude 5cm if its maximum Kinetic 

energy is 2J, Ren Re force constant of Re spring is 
  5cm
  2J 


  1) mN /400   2) mN /800   3) mN /1600   4) mN /100  

59)  A particle is executing S.H.M the displacement is given by 
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then its displacement is 3m then Re-Velocity of the 

particle is  

   mtx 
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  3m


Stamp



   sm /16   sm /20    sm /
3

2    sm /
4

3
 

60)  The sharpness of resonance of a forced oscillator increases with  

  
 

1) increase of damping force  

  
   

  2) decrease of damping force  

  
   

  3) decrease of quality factor  

  
   

  4) increase of band width  

  
  

61)  The Q factor of an oscillator is 500. If its initial energy is 25 J, then  Re-

energy lost per period is  

   Q25J
  

 
  1) 0.314J  2) 20J  3) 0.01J  4) 6.28J 


62)  In a snometer wire, Re waves produced are   

  
   

  1) Longitudinal    

  
     

  2) Transivense    

  
   

  3) stationary and polarized    

  
    

Stamp



  4) Transivense, progressive and polarized  

  
  

63)  In a stretched string when its length and linear mass density are constant 

then the vibrating frequency of the string is proportional to (T=Tension in 

the string)  

 
 



  1) 
T

1
  2) T   3) T    4) 

T

1

 
 

64)  At a given temperature, which of the following gases, possesses 

maximum r.m.s velocity  

  r.m.s
  


   2CO    2O   2H   2N 

65)  The Kinetic Reory of gases at absolute zero temperature reveals Rat  

  


  1) liquid helium freezes  

  
   

  2) liquid motion will be stopped  

  
   

  3) liquid hydrogen freezes  

  
   

  4) molecules have kinetic energy  

  
  


Stamp



66)  A 200 kw can not engine is operating between c0127 . The amount of heat 

absorbed by it is  

   kw  c0127  c027 
  

 
  1) sJ /108 5   2) sJ /102 5   3) sJ /104 5   4) sJ /103 5  

67)  A 100kw engine is operating between c0227  and c073 . The heat 

absorbed by it per second is  

  100kw  c0227   c073  
  


  1)  200 KJ/s  2) 166.7 KJ/s  3) 60 KJ/s  4) 206.6 KJ/s 


68)  When impurity is added to a liquid, then its boiling point  

  


  1) decrease    2) increases  3) doubles       4) Remain constant  

     
   


69)  The value of solar constant is  

  


  1) smkw ./34.1 2   2) smkw ./58.3 2   

  3) swkm ./34.1 2   4) smkw ./34.1 2  

 

70)  A body absorbs all Re radiation incident over it is called  

  


  1) poor absorber   2) white body   

    
     

  3) good emitter   4) perfectly black body  

    
   

Stamp



 

71)  The Fermi energy level in intrinsic semiconductor lies  

  
 

  1) in Re conduction band  

  
   

2) in the middle of the forbidden energy gap  

  
   

  3) in Re valence band  

  
   

  4) below Re valence band  

  
  

72)  If A and B are two inputs, so that output of NAND gate is  

  AB NAND


  1) BA   2) BA.  3) BA   4) BA  

73)  Binary number of 13 decimal number is  

  


  1) 1001  2) 1111 3) 1010  4) 1101 

74)  The phase difference between two points separated by 2cm in a medium 

through which wave of wavelength 5m is propagating is  

  5m 
  2cm
  


  1)  0144.0   2) 0144  3) 04.14   4) 044.1  
 

75)  When Newton’s rings are formed, due to transmitted light, Ren Re shape 

of Re rings are  

  

Stamp



 

  1) Elliptical  

  

   
  2) Same as the rings formed due to reflected light but central bright ring   

  
  
  

  3) square   

  
      

  4) hyperbolas  

  
  

76)  The angle between the mirrors in Michelson interferometer is  

  


  1) 045      2) 090  

  3)  0180      4) 0360  


77)  The dispensive power of a diffraction grating is 


  

  1) directly proportional to the grating element  

  
     

  2) inversely proportional to the order of Re spectrum  

  
     

  3) inversely proportional to Re square of the grating element  

  
   

  4) inversely proportional to Re order of the spectrum 
  

Stamp



  
 

78)  Two lines of wavelength 05890A  and 05896A  are to be just resolved in Re 

second order spectrum the minimum number of lines on Re grating is  

   05890A   05896A  
  


        
 

79)  Which phenomenon causes Re polarization of light  

  
   

  1) Dispersion     2) Double reflection  

       
        

  3) Double refraction    4) Diffraction  

          

80)  A quarter waveplate made of quartz is to be used with light of wavelength 

5400 0A . If refractive indices of ordinary and extraordinary rays are 1.544 

and 1.553 respectively. Ren Re minimum thickness of Re plate is  

  5400 0A  
  
  


  1) cm31030.0   2) cm3103    3) cm51015.0   4) cm3105.1    

 

81)  In a metastable state, Re time spent by Re particles  

  
  

  1) less Ran Re actual life time  

  
   

  2) more than the actual life time  

  
   

  3) Infinity     4) zero  

Stamp



      
  
 

82)  If Re potential difference between two points 2cms apart in an electric 

field is 20V then the field intensity between Re points will be 
  2cms
  20V

 

  1) cmV /20   2) mV /40   3) mV /10   4) cmV /10  

83)  If Re potential difference between tow points 2 cms apart in an electric 

field is intensity between Re points will be  

  
  (E) 


  1) 




1
E   2) 

2

1


E  3) 2E   4) E  

 

84)  The intensity of electric field at a point 0.2 m away from a point charge is 

8.1 newton/Eoulomb. Then Re charge is  

   m
  8.1 newton/Eoulomb


  1) c36   2) c036.0  3) c2.16   4) c05.4  

85)  The dielectric constant of a medium is 2.0  the rurceptibility is 

 mNcE   /1085.8 212

0  

  
   mNcE   /1085.8 212

0  
 


    mNc   /1085.8 212   2) )/100.2( 212 mNc    

  3) )/107.17( 212 mNc     4) )/10425.4( 212 mNc  

 
 

86)  The susceptibility of a dielectric medium is mNC   /107.26 212 . Its 

permittivity is  mNcE   /109.8 212

0  

   mNC   /107.26 212 

Stamp



  
  

  1)  mNC   /107.26 212  2) mNC   /106.35 212  

 

  3) mNC  /108.17 212  4) mNC   /103.8 212

 
 

87)  A parallel plate capacitor of capacity F5.2  has plate separation 6 mm. if 

a metal slab of Rickness 3mm is introduced between Re plates Ren the 

capacity becomes  

  6 mm
   F5.2  3 mm
  


  1) F5.2   2) F3   3) F4   4) F5  

 

88)  The electrical capacity of the rearth is approximately  

  


  1) 0  2) 100 F   3) 300 F   4) 700 F  

89)  The resultant capacity when ten capacitors of each capacity 10 F  

connected in series is  

   F  


1) 100 F   2) 10 F   3) 1 F  4) 1000 F  


90)  Two long parallel wires separated by 40mm carry a current of 25 A each. 

The force on 2mm length of Re wire is  

           
 40mm
  25 A2mm
  


  1) N310625   2) N51025    3) 31025.6  N 4) N5100.5   

 

91)  If a positive chage ''q  moving with a velocity N  Rough a point in a 

mapnetic field experiences a deflecting force “F” then Re magnetic 

induction B at Rat point. 

Stamp



  N  ''q 
  “F” 
  


1) Q   2) N 

3) F   4) q, N and F  


92)  Field at a point on Re axis of current carrying circular loop at a distance 

 far away from Re loop is proportional to  

  
  


  1) 2   2) 

2

1


  3) 3   4) 

3

1




93)  In a CR circuit, Re growth of charge on the condenser is  

  CR
 

  1) more rapid if the product CR is smaller  

  CR

   
  2) more rapid if the product CR is bigger  

  CR 
    

  3) very slow if the product CR is smaller  

  CR
   

  4) Independent of Re product CR  

  CR 
  
 

94)  The ratio of Re magnetic field inside a solenoid at an axial point well 

inside and at an axial end point is  

  
  



Stamp



  1) 2  2) 
2

1
  3) 1  4) 

2

3

 

95)  Two wires carrying same current in Re same direction which are 1cm a 

part will experience  

 1cm
 


  1) a mutual attractive force  

  
   

  2) a repulsive force  

  
   

  3) No force at all  

  
   

  4) gravitational force 

  
  

96)  The average value of current in AC circuit is given by  

  AC


  1) 637.0  maxI   2) 707.0  maxI   3) 2  maxI  4) 2  maxI  

97)  The average power in a pure inductive circuit is  

  


  1)  maxmax VI    2) smrnms VI ..  3) 1  4) zero 


98)  The form factor is equiralent to  

  
 

  1) Ratio of r.m.s to Re arrange value  

 

  r.m.s 

Stamp



      

  2) Ratio of average to Re r.m.s value  

  r.m.s 
    

  3) Ratio of r.m.s to Re maximum value  

  r.m.s  
   

  4) Rtio of average to Re maximum value  

  
  

99)  At any point in Re electromagnetic cavity resonator energy stored per 

unit volume of the field is given by  

  
  



  1) 2

0
2

1
EE  2) 2
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 3) 2
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 4) 2

2

2

0
2

1

2

1
BEE




 

100)  The velocity of light in free space is given by  

  


  1) 00EC   2) 
0

0

E
C


  3) 

00

1

E
C


  4) 

1

00E
C


 

 

Stamp


